log (T*) LABJNDuUS5 triangle lightness T*

T* h"L*w - nc=100,

T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,c)
T*LaBINDUS=IN(A 17+ A20)/ (A2 Aon) - (X=YTYy)
+(3.6)=320.T* (18)=748,T*,(90)=1164

L]
Tro=1163,74, A =(¥6666, A= 1044, ¢=1,00
T1g=747,51, 11,; 0 817, £5,=0,§058 ~= ==
T43,6-326,761 %, 7 1,51 Y184 gpHicaey

LABJINDu5
tristimulus value difference
Yoc=L*w - nc=100,
T*LaBINDUS=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDUs=IN(A 10+ A20)/(A2uhon) - (X=YTYy)
AY=Agn(A1r+AznY)=Aon(A1n+AzX), See CIE 230:2019
dYgg=0,35, Ay,=0,6666, A,=0,1044, ¢=1,00
dY;=0,08, A=0,017, A,=0,0058
dY3¢=0,02 Y,=18, dY=0,08 2
*

T* =748 dY,

log (AY/Y) LABJINDU5
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,
T*LaBINDUs=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDUs=IN(A 10+ A20)/(A2uAon) - (X=YTYy)
AY/Y=Agn(A1n A2 Y)Y=Agn(ArtA XY
(dY/Y}5=0,0039, A,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g=0,0044, A =0,017, A,=0,0058
(dY/Y} 60,0070 Y,=18, dY=0,08
. application
log(dY/Y}F-2,34 m;=-0,Fsa range
=
T*,=748 dY,=0,08 dY,/Y,=0, oosa " "=
|>QJ::l
Xw=5

XxN=0,2

LABJINDu5

tristimulus value contrast
YoerL*w - ne=100,
T*LaBINDUS=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yc)
T*LaBINDUs=IN(A 10+ A20)/(A2Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]

log (Y/AY)
C,=(Y/AY)

T*,=748 dY,=0,08 Y,/dY, 222
log(Y/dY)=2,34 m=0,13 =" -

.
(Y/dY)}g=250,46." 5, ~G,0666, %—o 1044, <.80-
(Y/dY)g=222,£5, A=0,017, A0, 005@39 Ca"on
(Y/dY} 142,55 Y,=18, dY=0, (B)h )

xN=0,2 I><W=5

LABJNDUS relative triangle lightness T*/T*,

hmL*w - nc=100,

log (T*/T* )
T,
T*LaganDus =IN(A 10+A2Y)/(A2rAon)  (Ynd/100<Y<=Y,c)
T*Laganpus =IN(A 10+ Ao ) (A Aon)  (X=YTY,)
T*N(3.6)=329,T*,(18)=748,T*y(90)=1164
T*og/T*,=1,55, A4)=0,6666, A,=0,1044, ¢=1,00
T*1gT*,=1,00, A =0,017, A,=0,0058
T3 dT*,=0,43,T%=747,51 Y=18
log[T*/T*,]=0, m,=0,33

L* =49, T* =748
application
range

X,=1
Xw=5

T 5202

LABJNDUS relative
tristimulus value difference
Yne=L*w ne=100,
T*LABINDUS =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUS =IN(A 10+ A2) (Ao Pon) - (X=YTYy)
dY/dY =(A1ntAX)(A1+ALY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,1044, ¢=1,00
dY,g/dY,=1,00, A,;=0.017, 4=0,0058 ..
dY; ¢dY,=0,31 Y, =18, dY=0,08
T*,=748 dY, 08 dY,/Y,=0, (‘Jﬂ 4, '

log(A Y/AY i)
AYIAY,

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,

T*LABINDUS =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUS =IN(A 10t A2) (Ao Pon)  (X=YTYy)
AYYY@YIYV)=[A 1+ A2X) Xl (A 1+ Agy)
(dY/Ybg/(dY/Y,=0,88, Ay=0,6666, A,=0,1044, ¢=1,00
(@Y/Yyg(dY/Y)=s 20, Aln— 017, Ag =0,0058
(@YY g(dY/Y)=1

log[(dY/Y(dY/Y),]=0, m/=-0, 13 3
T*,=748 dY,=0,08 dY,/Y,=0,0044

=1
Xw=5

application
rang

XN=0,2
log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*LABINDUS =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LABINDUS=IN(A 10t A2) (Ao Pon)  (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08

logl(Y/dYY(Y/dY)J=0, m=0.13 _ _

application
range




